8—1 EHHRFOIAHE

£ I3 # A 7k B
Z MK ' B E R % B8 EEE BEE [k HE WEE BEH
20 F& (3,446) (1,421)
F R 25 F & 220 13,701 41,867 37,898 7 1,776 7,337 5,522
30 FA (5,985) 17 F&X 1)
TR 2 £ & 355 24,002 64,421 53,474 7 17 264 160
7 FX (5,518)
F R 21 E & 422 21,303 56,283 50,755 3 2,064 8816 8,807
7 FAR (265) (42)
TR 28 £ & 460 19,083 75911 74,496 15 906 8,270 7,968
11 F& (1,512)
E R 29 £ E 444 17,945 74,588 73,062 2 240 1,686 1,672
3 FA
28 14 1,001 2,631 2,631
(&R) - - - -
R 2 6 2 2
Fit 0 19 36 22 0 19 36 22
=/\Ed - - - -
AFILE 0 2 2 2
=4 21 1,956 2,594 2,594 0 4 3 3
(A#) 0 7 9 9
ZhERE 1 30 14 14
7 FA
B 9 17 3,312 3,312
EFEE 13 649 1,529 1,529
1 FK (500)
G=E) 3 97 2,585 2,085
EALER 9 1,780 4,391 4,391
& 40 2,761 1,272 1,272 0 25 8 8
KL 0 19 97 97 0 16 94 9%
(E/NBZ) 0 7 4 4 0 5 3 3
KALTEER 10 757 108 108 0 36 14 14
hH 2 214 3,982 3,982 1 119 1,438 1,438
GZR) 0 3 37 37 0 1 35 35
z2E;3] 17 900 672 672 0 7 23 23
ER 281 5,829 43,042 43,042 1 4 24 24
il 17 1,252 6,139 6,139
(1,013)
(&L) 4 559 2,128 1,115 0 4 8 8
BB 1 80 - 0
1 AR BERFULABRERSICEYERLT,
2 BEHIWEFICTBFSEFMORETORMHMIE. BEBSWFENSEFMELELFIV LD THS,
3 FUERRUSIRERICONTIE, BERVHEFHELELH LL BEHIRNSE( ) SHEELI,
4 ERE WEANRLLMIBELTVDSEIHEO SHEH. BRL TV SIS IREEH. XKOBEAIREOLEREH/ LL .
5 KDL, IABEOLVLDIFEELLY,
6 HEDS>H, MBILYB LT HIEAEELLOE. RHIKYB LT,
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By (EfE ha, 2 m3. 235 FM)

& |3 bl L = LS # B
Z MK ' B E R HE WERE BEE [k HE WEE BEE
0 F& (237) 20 FX
TR 25 & & 183 9,996 16,706 16,384 14 1 10,670 10,670
(237) 13 F& 1)
TR 26 & & 254 12,953 21,406 19,265 6 - 4,083 4,082
(481) 5 FX
F R 21 E & 367 16,628 23,949 23,467 2 11 2478 2,478
0 F& (224) 7 FK
TRk 28 & & 421 17,112 26,868 26,644 6 - 4,046 4,046
(94) 7 FF
T Rk 29 ff E 422 17,041 60,994 60,900 11 20 4,794 4,794
b5 2 13 1,001 923 923
(&R)
=
[=] £
T
=Y +4
AFILE
=hEdLip 21 1,952 2,591 2,591
(A#)
ZREPE 1 30 14 14
6
45 0 17 90 90 8 2,667 2,667
EFEE 13 649 1,529 1,529
(94) 1
(=%) 0 7 118 24 2 1,960 1,960
EALER 9 1,780 4,391 4,391
& 39 2,736 1,264 1,264
RICEED
(ENpTZ)
KA 10 722 94 94
W 1 68 14 14
GZR) 0 2 2 2
HF 17 881 611 611
ER 280 5,825 43,019 43,019
g 17 1,252 6,139 6,139
(&L) 1 39 195 195 0 20 167 167
B 1 80 - 0
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25 F & 445 2 0 1 8 8 8 7 1,196 4,537

(2,311)
TRk 26 & E 22,362 2 0 46 171 171 7 3 455 6,768

T ok 21 & E 4,712 1 0 0 1 1 4 4 356 3317

F ok 28 F K 35,802 1 0 1 1 1 6 1 133 870

¥R 29 FFE 2,515 - = = - - 6 2 192 1,339

Tt

=/\tdt

AHFLE 1 0 2 2

R 1 0 3 3

(L)

KAETR

FH 2515 1 0 5 15

GBIR)

Bl
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BT (EHE:ha, 8 :m3, £55: FM)
& = Z [ 1t
HZMEEE BEE iR H 8 HWELE BEH
(1,285)
TR 25 & E 3.239 2 82 758 758
(2,861)
TRk 26 & E 1,087 22 6,610 4,481 4,481
(284)
FR 21 & E 3033 0 20 1 11
TR 28 & & - - - - -
(973) FEESY
¥R 29 FFE 366 2 7 2,272 2,272
3 FX
b 23 1 1,707 1,707
(&X)
B 2
Tt
=/\td
______ HFILE 2
SRELE
(R#) 0 7 9 9
ZREPE
1 FX
& 1 556 556
______ EFH
(406)
GEE) 101
=L
=)
KRR 3
(EANFE{)
KA
e 15
GBiR)
EaF
ER
L
(567)
(B&t) 243




